INDIAN SCHOOL MUSCAT

FIRST TERM EXAMINATION
SOCIAL SCIENCE- IX -MARKING SCHEME

SET-A

QNO OPTIONS | ANSWER

1 B ANS: b) Abbe Sieyes

2 B ANS: (b) abolished monarchy

3 A ANS: a] Estates General

4 B ANS: b) Theory of division of power

5 A ANS: a) The Bastille

6 A Assam - Dispur

7 C 15,200 KM

8 B Suez Canal

9 B India, Australia, USA, Russia

10 D (i) (ii) (iii) & (iv)

11 D ANS: d) Government is always formed by the Communist Party

12 B ANS: B- The country took loans from international agencies. One of the
conditions for giving loan was that the government would reduce its
expenses on education and health

13 C ANS: (c) It is a more accountable form of government

14 B ANS: (b) Decisions are taken by consultation and discussion

15 C ANS: c. Elected leaders act only by consulting with military officials
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16 ANS: d) all citizens have complete freedom to follow any religion
17 ANS: d) Mahatma Gandhi

18 ANS: Capital

19 ANS: b Labour

20 ANS: C Use of Persian Wheel for irrigation

21 ANS:A -33.3 %

22 ANS: d- Communication

23 ANS: b-Education and skill

24 ANS: a-Sex Ratio

25 ANS: c- 3

26 ANS: D] Only ¢

27 ANS: (d) Exemption from taxes to the state

28 ANS: C- Political instability of the Directory

29 82030" E is a multiple of 7 1 /20

30 (i) & (iv)

31 ANS: d

32 ANS: (a) Prime Minister can be punished for violating the Constitution.
33 ANS: C

34 B] a-ii ,b-iii ,c-iv and d-i

35 b ] provides a method to deal with differences and conflicts

36 C. The Indian government only can decide its internal and external policies.
37 ANS: d

38 Ans:alaand d
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39

ANS: C

40
aJ a-ii ,b-vi, c-v and d-i

41 d- banks

42 ANS: d -Medium farmers

43 b) A mother cooking for her family

44 d [More than 90 % women are being educated in India

45 B Both A and Ris true but Ris not the correct explanation of A.

46 d] Less education and no skill formation

47 a) The Constitution of 1791vested power to make laws in the hands of
elected representatives

48 ANS: (b)  They did not have equal political rights as men

49 d ] Bordeaux

50 Ans: (c) reluctance of Europeans to go and work in distant lands

51 Ans- d - Seventeenth

52 C] . Assertion is correct statement but reason is wrong statement

53 Four large rivers of India Godavari, Krishna, Kavery and Mahanadi flow
through the Eastern Ghats

54 (ii) & (iv)

55 Due to weathering of Igneous rocks

56 Mountains are the major sources of water and forest wealth.

57 Tamil Nadu

58 Mahendragiri

59 Punjab

60 Kanchenjunga
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